Name: ________________

6 000 + 2 + 80 000 + 400 + 30 =  ________

100 + 3 + 20 + 5 000 + 20 000 =  ________

2 + 50 + 700 + 6 000 + 10 000 =  ________

50 000 + 3 000 + 200 + 80 + 6 =  ________

400 + 50 + 6 000 + 70 000 + 2 =  ________

8 000 + 90 000 + 900 + 30 + 2 =  ________

20 000 + 9 000 + 700 + 50 + 7 =  ________

300 + 99 + 70 000 =  ________

2 + 30 + 9 000 + 80 000 =  ________

8 000 + 20 + 9 + 40 000 + 500 =  ________


ANSWERS 
6 000 + 2 + 80 000 + 400 + 30 =  86 432
100 + 3 + 20 + 5 000 + 20 000 =  25 123
2 + 50 + 700 + 6 000 + 10 000 =  16 752
50 000 + 3 000 + 200 + 80 + 6 =  53 286
400 + 50 + 6 000 + 70 000 + 2 =  76 452
8 000 + 90 000 + 900 + 30 + 2 =  98 932
20 000 + 9 000 + 700 + 50 + 7 =  29 757
300 + 99 + 70 000 =  70 399
2 + 30 + 9 000 + 80 000 =  89 032
8 000 + 20 + 9 + 40 000 + 500 =  48 529
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